EARAROBEEIERT — 2 N— IBISH —F

20165F4A3H (B) 3mE=+14H

Il S ZREE A% E KR (BY) T8 [xwl 8 [ 1memml - w0 oo mE
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e £ 6 | EHEEH 3:12.9 1-2-1-1 [ 13.4| - 2 4 FHEX (EH#)
@IV LA Z— “ 7| 600 ) ’ (_is) () 17—
R:TZRAJoH— B:AX—bMHIXEZ L HBE77— L4
5 o 4t 4 | LEA 3:13.0 6-4-2-2 |13.4| — 5 484 | REEMR— (i)
XA RIVKIL by X 59.0 (1/2) o) | W H5TLYRIST 5747
L:O—YXM2 A4 B:aAXERY-—Ua BEE BhE
- = . AR — : —~6-5- - HMEER (E#)
S554L Ky 42— [B] i o4 s 3(.11/32.; 7-6-5-3 | 13.4 8 (4&0) meax ol
RTFATLREA L B:TIE— b EAHTT— L
o REEH : —8-6- — [SIEES IV MES:)
FLZRY — 5 e 3.(153).9 8-8-6-6 | 13.5 6 (5:)22) el
Lixfagf—5— B:Ukbs— A #2
- g . N BEE :13. —1-3- . — BRI (ER)
5l5lg| 7/—%7Froy 5 = 3(;3@9 2-1-3-4 | 13.5 9 ;1_788) QH@;
RN—VIF4 BTLFvI K= il EE
Do, P LSS e O FERFZ :15. —-3-4- . — ERE— (ER)
6lglis| v==>7nva> H 6 g 3(175)1 3-3-4-5 |13.5 1 tg;t Rz
L:T7 RIS Y L—> BAYTZILRTHEALR SRS
N HEFKER : -9-7- — REREE ((#)
7 9 @r>J)y ST —Y% 4 6 ?6.0 (32.115/.25> 10-9-7-7 | 13.6 4 (4;0) q:ﬁ?i%
R:TS5v o808 By TUySsex HR&H Ty TNL—
S 5 s 4 | BRXH 3:16.1 9-10-8-8 | 13.6 | — 14 | 492 |ABEK (RR)
(11| X T¥avNnTIxA 89.0 3 172 (o) | Kb
R:ZAZF2—FTUNT 4 B:TANRYY— PNCEE
. A+ B 7. -5-10~ . - EFEE ()
9 2| ®714 )T Z7—F "5 | BT 3(157)0 3-5-10-9 [ 13.7 12 ;1:;28) Erah
RAFAT—NE B:dYyToA—> FAHS
> S 4 8 | BHE 3:19.0 14-14-13-13| 13.8 | — 3 504 | /NBE (RR)
1007 12| *FFI1F— §0.0 ) o) | A
R:7V%x B:74N\Uyda () #A3I—-KL—>a>@AET 7
S i o4 | BEMNE 3:19.1 13-12-12-12| 13.8 | — 13 | 488 | BIEXCHE ()
] 5 @17_#'7/ 59.0 (3/4) (0) TEHRER
:d—IWKRFPY2—Ib B:IUS—K7> TS
N N R IEN INEFEFRK : -11-11- = ME— (E#)
15l 7|EYTFrEL [B] o4 (e 3.(159).9 11-11-11-10| 13.9 1 ig? DS
LNnN—E>Tv— B:XTLyRyq2d BN
DTN f 5 | KNIRE 3:21.1 5-6-9-11 | 14.0| — | 10 | 448 |B>HEFEG )
13l 10| 7Y /1 ¥F3 5.0 @ () | AT
RFa=T12N7 8 B:UU—LiNT HROUE D5
s 4 4 | REREX 3:22.6 12-13-14-14| 14.1 | — 7 472 | MFFIE (FR)
L:T7LrFFE2T+ B:Fs—TZX%—+ FREBS
@ 21 L
£y 52.8-39.8
ngraAq L
® I—F—@EBIERL
|S=7r= 6,8-(2,13)-10,4-1-3,11,9-7,14-5=12
Aol=5"= 8,6-13-4,2(10,1)-3,9-11-7-5-14=12
JI=7"= (x6,4)8-13,1-3=9=11-10,2,7=5=12=14
43—+ — (x6,4)-1,8,13,3=9=11=2,7-10-5=12=14
[ RN
B Op 6 390F9 794K 4-6 700 & 3-4 1,280 &R 1-4-6 7,800/
# B 6 160 1-6 1,050 B E 4-6 2,060 EE 6-4-1 36,410
4 240M 1-4 2,030 B H 6-4 3,690M
1 420M

ABICOVWTRDTEEERROODE. TR LIV,




